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3542 : 253
26450 115
700 = 1S
6344 ' 61
5250 : 125
22010 : 62







3542 : 253
26450 115
700 = 1S
6344 ' 61
5250 : 125
22010 : 62




JakpenieHde npueMa jaejieHus
MHOI0O3HAYHBIX YHCEJI



1029 : 49 = 201
288 :48 =6
2880 : 48 = 600



| Bapnanr - N 2 (0)

|l Bapuanr - & 2 (B)



1:1+0:428+428:1

930 — 4x(25 - 0) -732 : 732






202 xm = 8080

m = 80380 : 202

m = 40

202 x 40 = 8030
8080 = 8080




n: (6000 -5996 ) =600

n:4 =600

n=600x4

n = 2400

2400 : ( 6000 — 5994 ) = 600
600 = 600



(d —295)x 13 =260
d—-295=260:13
d—-295=20
d=295+ 20
d = 315
(315 -295) x 13 = 260

260 = 260




Ha ypoke mue ovtno mpyomno...

buino nezko na ypoke...

Vi
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buvino unmepecno na ypoke...
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